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Chapter 4 Alkanes & Cycloalkanes - Part 1

Which 1s the correct [UPAC name for the given compound?

A OSN

Provide both a common name and an
[UPAC name for the given compound.

; n

5 | Draw 2-isobutylhexane and

then rename the compound
(assign the correct [UPAC
name to the drawing).


https://www.cpp.edu/%7Elsstarkey/courses/CHM3140

8

Draw all the isomers of C4HoCl.

1) Provide the IUPAC name of the compound below (it may help to redraw it).
2) Determine the direction of the equilibrium. Explain.
3) Draw the lowest and highest energy conformations of this compound.
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Cis-Trans Isomerism in Cycloalkanes (4.14)
cis means two groups are on the same side

frans means two groups are on opposite sides /_\ N

cis alkene trans alkene

trans-1,3-dimethyl- cis-1,3-dimethyl-

cyclopentane cyclopentane



Which 1s the correct IUPAC name for the given compound?

SO

A) 3-ethylcyclooctane

B) 4-propylcyclooctane
C) 3,5-pentylcyclooctane
D) 1-ethyl-3-propylcyclopentane

E) 3-ethyl-1-propylcyclopentane

Provide both a common name and an
[UPAC name for the given compound.

—+

A) sec-butyl 10d1de A) 1-10do-1,1-dimethylethane
B) tert-butyl 10dide B) 2-10do-2,2-dimethylpropane
C) 1sobutyl 10dide C) 2-10do-2-methylpropane

D) 1sopropyl 10dide D) 1-10do-1,1,1-trimethylethane

E) n-propyl 10dide E) 1odotrimethylmethane



Which 1s the correct [IUPAC name for the given compound?

A) 1-fluoro-2-(1-methylpropyl)-1-phenylcyclohexane
B) 2-benzyl-1-fluoro-2-(1-methylpropyl)cyclohexane
C) 2-(2-butyl)-1-fluoro-2-phenylcyclohexane
D) 2-benzyl-2-(2-butyl)-1-fluorocyclohexane

E) none of the above

Which 1s the correct [UPAC name for the given compound?

Br
A) 3-bromo-2-methyl-5-phenylpentane
B) 3-bromo-4-methyl-1-phenylpentane
C) 2-bromo-1,1-dimethyl-5-phenylpentane
D) 3-bromo-2-methyl-6-phenylhexane

E) 4-bromo-5-methyl-1-phenylhexane



Draw 2-isobutylhexane and then rename the compound
(assign the correct [IUPAC name to the drawing).

A) 3-(2-methylpropyl)hexane
B) 3-e¢thyl-2,2-dimethylhexane
C) 4-ethyl-2-methylheptane
D) 4-cthyloctane

E) 2.4-dimethyloctane

Draw all the 1somers of C4HyCl.



1) Provide the IUPAC name of the compound below (it may help to redraw it).
2) Determine the direction of the equilibrium. Explain.
3) Draw the lowest and highest energy conformations of this compound.
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